CLASS-X

#H ‘srear @I
An internal choice will be provided in 5 questions of 3 marks and 4
questions of 6 marks.

Mathematics (Theory)

Mathematics (Theory)
Design of Question Paper
Type of Questions Remembering | Understanding | Application | High Order | Evaluation Total
(Knowledge) (1) (A) Thinking (E) Marks
(R) Skills (Qupstions)
(HOTS) '
Very Short Answer 6 2 I - 1 [P0y
(VSA)
(1 Mark)
Short Answer-11 1 3 - 1 - 0(5)
(S.A-11)
(2 Marks)
Short Answer-I11 2 3 4 B i 3010y
(S.A-LTD
(3 Marks)
L.ong Answer 1 | | 2 - B0(5)
(L.A)
(6 Marks)
Total Marks 20 23 19 14 04 | 030
"oWeightage 25% 29% 24% 17% 5% 00%
Note: 3 3t aret 5 woall 3 ‘Brerar I@om 3R 6 3iwmi arct |4 uesi

Weight of content Units and Sub Blue Print ]
units
Unit Limts Content Sub units Weightage Type of Questions | Remarks
N VSA SA-1 SA- L.A Total G Tolal
N {1 Mark) 2 Marks) | (3 Marks) | (6 Marks)
| Number Real Numbers 06 | | " - 06(3) 0N6(3)
System
(16 Marks)
1 Algebra Polynomials 03 | | - 3(2) 20(8)
(20 Marks) Mair of Linear Equations in 06 - - 2 - 6(2)
two variahles
Quadratic Equations 07 | - - E* 7(2)
- Arithmetic Progressions 04 1 ¥ - 42) |
111 Co-ordinate hstance Formula 03 - = | 3 6(2)
Geomeltry
(06 Marks) Section Formula/ 03 - 1 - 3th
Area of triangle
v Geomelry Triangles 09 1 | 1 9(3) 15(6)
(15 Marks) Circles 03 | | - - 3(2)
Constructions 03 - - 1* - 3
v Trigono- Introduction of 03 1 | - = 3 12(4)
metny Trigonomelry
{12 Marks) Trigonometric ldentities 03 - 1 - 3
| Heights and Distances 06 - - 1* 6(1) &
Vi Mensuration Areas Related to circles 04 | - 1t - 42) 10(3)
(10 Marks) { Perimeter and area ol
circles, Areas of sector
and segment of a circle)
= - Surface areas and volumes 06 - i - ¥ 6(1)
Vi Statistics Statistics 07 1 = - 1* 7(2) 11(4)
& Probability 0 | - | - 42)
Probability
| (11 Marks) )
Total 80 10(1) 10(5) 3oginy 3N - 80(30)
Marks

Note: (i)zﬁw%mzbaiaam?ﬁ%ﬁﬂv%aﬁiﬁaiﬁaﬁmﬁ%sﬁv

e @ ofiar @ 3ics weat @t AT v certd F

Figures outside brackets indicate the marks carried by the concerned questions and
figures within brackets indicate the number of questions.

(ii) *a7erar wes
OR questions*




MATHEMATICS [Class- X]
Questionwise Analysis
Question | Objective Group-A (01 marks) Marks
Number
0r R Ex-1.2/1.4 01
02 E Ex-2.1 01
03 U Ex —4.1 01
04 R Ex — 8.3 01
05 U Ex - 5.1 01
06 A Ex —12.1 01
07 R Ex —6.1/6.2/6.3/6.4/6.5 01
08 R Ex —10.1/10.2 01
09 R Ex —15.1 01
10 R Ex—-144 01
Group — B (02 Marks)
11 U Ex—1.2 02
12 U Ex—-2.2/2.3 02
13 U Ex —6.2 to 6.5 02 |
14 H Ex —8.1/8.2 02
15 R Ex —10.2 (wa= 10.1/10.2) 02
Group — C (03 Marks)
16 U Ex—1.1 3terar 1.3 03
17 A Ex-3.3 3 3.6 03
18 A Ex —3.1/3.2 (3merm Sf=e) 03
19 A Ex —5.2 3teram 5.3 03
20 A Ex - 8.4 03
21 R Ex-7.1 03
| 22 R Ex—-7.2 srerar 7.3 03
23 E Ex-11.1 3rear 11.2 03
24 U Ex —15.1 03
25 U Ex—12.2 awear 123 03
Group — D (06 Marks)
26 A Ex—-4.3/4.4 06
4.2/4.3/4.4 3rerar aror Aareh
27 H Ex — 9.1 3rerar 06 |
28 H ud=T 6.1/6.6/6.8/6.9 06
29 U Ex — 13.1/13.2/13.3 06
3rerar Ex—13.4
30 R Ex—14.1/14.2/14.3 06
(@Te AT dAgeich) 3Tqdl HIeADH




wesl @t BT : 30 gt @t [or HSA

Total No. of Questions : 30 Total No. of Pages

HAAT =

3 He guifes : 80

Time : 3 Hrs. Full Marks : 80
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|

HFrAatew ferder
General Instructions :

79t weer arferaret 2
All questions are compulsory.
=9 yeeus & 30 ued @R Wusi A B,C3RDFHA Fenfora

-

| II9s

Ad 10 U9sl U 1 3 BT, W|Us B 5 UL USDb 2| b

BT, Jos C 3 10 U URep 3 bl @bl gam vs DI
USRI 6 3Bl Bl B

et

This question paper consists of 30 questions divided into four sections A. B, C
and D. Section A contains 10 questions of 1 mark each. Section B cpntains 5
questions of 2 marks each, Section C contains 10 questions of 3 marks each

and Section D contains 5 questions of 6 marks each.

T B 3T H Aol 3icba SfeIU |

Only sketches are to be given in the answers of construction.

yodl @ 3IdT ueel & Jer kU ow frder @ 3renes A &

=aiie el

Answers of the questions must be in the context of the instructions given

therein.

Tt T @t ugar we I gRawr @ 3ia #A Ru gt uy &

HIfSTE, 3ty Bal =8l |

Do all rough work only on the last pages of the question-cum answer booklet

and nowhere else.
IFoS— A

goer HIAT 1 A 10 P URB 01 3ib @l &

SECTION- A
Question Numbers 1 to 10 carry 01 mark each.

120 B 3IHTG IUISHS] @ IYUleThel B U A add D

Express 120 as a product of its Prime factors.
fopeft @gue P(x) & fae, Y=P(x) & ams A, P(x) B U
T S DI |

For some polynomials P(x). find the number of zeroes of P(x) from

of Y=P(x).
/ X
0 J i

$Y

e

SS G

the Graph




10.

s

12,

Sitar T s X2+ 3x+1=(x-2) v fgama d#fiaor 2 9
Check whether x> + 3x + 1 = (x — 2)* is a quadratic equation or not.

#H1er et (Evaluate) -
Sin18’
Cos 72"

AP 14101622 ccovnizune & o a1d 3iae sia Biieiv
Write the common difference of an AP : 4.10,16.22

............

r Brown aret 3rdga @1 A fERau
Write the Perimeter of a semicircle of radius r.

Faft @of B1a & - Famu/Aatorast
All Squares are — Similar/Congruent

U ga o feas FJaiar zuef Ywnd & wasdl & ?
How many Parallel tangents can a circle have ?

T Sal |

fear “E” &t uiferesar 3t mesn “E a&l” a5t wifdresar @1 ot aRIm

BYoI ?

What will be the addition of the probability of incident “E™ and incident “E

not™ ?

3p3 UdBIT &l deor & ?

What type of ogive is ? Y- 3r&7(axis)
'y

et aressnzar (ct)

i

0 foraer e X-31&7(axis)

(Lower limits)

Fvs— B

gosl AT 11 A 15 ddb URd 02 3ibl &1 |

SECTION-B
Question Numbers 11 to 15 carry 02 marks each.

26 3N 91 @1 3Ty IuerEvs fafer grr HCF sta @Sifpu |

Find HCF of 26 and 91 by the prime factorization method.

v foara ague sa @S, ad geadl & =T daT protawhe

WH: 4 VA 1 B

Find a quadratic polynomial, the sum and product of whose zeroes are 4 and 1

respectively.




14.

16.

1

18

Faea agsfor ABCD oradd AB|| CD 2 @erm saa fawmvl A
BD ussuz o0 uz ufasse @mza 2 o cerisv 6

D C
S e
A =

04_0B
oC 0D

C 3ne

ABCD is a trapezium in which AB || CD and its diagonals AC and BD

intersect each other at the point 0. Show that
D

04 0B

OC  OD

C
e
0>
)
B

afx snm:% 2 St tanA @7 e Uit dSfTT

A

If SinA :—j: then find the value of tanA.

ga @ ufora ve agefer ABCD zffem srenm 81 R iy
AB+CD=AD +BC
A quadrilateral ABCD is drawn to circumscribe a circle. Prove that
AB +CD=AD +BC

Fvs— C

goeT JWAT 16 A 25 ddb URADB 03 bl BT B

SECTION- C
Question Numbers 16 to 25 carry 03 marks each.

oftrers fyaTioTer Teollidedd @l AT &2 135 3T 225 B

PITST |

Use Euclid’s division algorithm to find the HCF of 135 and 225.
3rerar (OR)

Breg AT 6442 vas 3raRAw iz 2|

Prove that 6++/2 is irrational.

gct @iete (Solve) :

ardst fafer gr ger @G -
(Solve by Graphical Method)
x=2y =0
3x +4y =20

HCF

Sited



19.

20

21 «

2:2.

23.

24.

2.

339 A.P. 1 314af ue =g BIfoiv fSreaaer 11af ug 38 dear

ug 73 21
Find the 31 term of an A.P whose 11" term is.38 and the 16" term i
arerar (OR)

1 edar

5 73.

U AP user ug 7 3T 13af ug 35 B A ATAIAT JaT UgAH

13 ual &1 2Nar Std dieie |

In an A.P. first term is 7 and 13" term is 35. Find the common difference and

sum of first 13" term.
RBreg @i (Prove that) :

Cos A
1+Sin 4

1+Sin 4
+
Cos 4

=28ec A

fRregait (-5, 7) @en (-1, 3) @ &fm & gf za BT
Find the distance between two points (-5, 7) and (-1, 3).

3o Rig @ Rrderes sa @isT o Rigait (4, -3) 3R (8, 5) @
Siisal ardr WaRAs @l 3iaRe Hu A 3:1 B argua A [Janfoia

wHAr & |

Find the co-ordinates of the point which divides the line segment joining the

points (4. -3) and (8. 5) in the ratio 3:1 internally.

3rerar (OR)
3 Brager @1 &swer st @fsie s ofid (2, 3), (-1,
(2, —-4) &1

Find the Area of the triangle whose vertices are (2, 3). (-1, 0). (2. -4).

4cm.Sem3NT 6cm Hon3il gt v Bragst @ vEen wifoiy
e 3AD AABU TP 3T Bragor @ zaen @ifore, foraast
faw ot Brager @t ot afonait @t 2/3 IpEht &)
Construct a triangle of sides 4 cm. 5 ¢cm and 6 cm and then a triangle
to it whose sides are 2/3 of the corresponding sides of the first triang

arerar (OR)
6 cm Brom @1 Uss gda HifRu dew A 10em gy Rera uwp
ga ue wuel YW goar TSt wEenm difSiU|

0),

3N
Ho1o

similar
le.

fig 3

Draw a circles of radius 6 cm from a point 10 cm away from its Ceptre,

Construct the pair of tangents of the circle.

Us B F 5 offel @A, 8 JAWE HA 3T 4 B B & |

ERBES

3 3 U ST ATgsAl feimren oidr & | sadt wn wiidiegar 2 T

foreprerr orar war (i) arer 27 (i) wwe 22 (i) s =idl
A box contains 5 red marbles. 8 white marbles and 4 green marbles.
marble is taken out of the box at random. What is the probability tha
marble taken out will be (i) red ? (i1) white ? (ii1) not green ?

U ga @ ugafer @ &uter s @ifsie et aRfer 22

7

One
t the

cmZ |

Find the area of a quadrant of a circle whose circumference is 22 ¢m.

* 31erar (OR)
wryiftea o1 @T & st @iere afe ABCD sgem 14 am
aof & @err APD 3tz BPC ar sieiga 2|

BT U




26

27,

28.

29.

Find the area of the shaded region. If ABCD is a square of side 14 ¢
APD and BPC are semicircles. A B
P
//i\
D C
Fos—-D

gose HSBAT 26 A 30 ddb USd 06 bl &bl & |

SECTION-D
Question Numbers 26 to 30 carry 06 marks each.

n and

faara weflepzor 2xX-7x+3=0 & HeAT @5t upfa sia @ifoe | afe sgat
w1 Afaca &), ar fgardt I3 @1 IuAier R Hel SId BT |
Find the nature of roots of quadratic equation 2x*-7x+3=0. If the real roots

exists then find roots using quadratic formula.

3ferar (OR)

Y T3t @ Toif T 3iaT 180 &1 VIS FTAT BT dot gsi FwAT

&I 3(T6 el &1 Clell WU S BIGIT |

The difference of squares of two numbers is 180. The square of the|smaller

number is 8 time the larger number. Find the two numbers.

fE & U Rig A Ue 20m BT Age B RBRET o ol [T A
MNerr B gt 3T PDET B IeerTel BVl HHL: 45° 3T 60° B

Fee @S s sa BHIeIe |

From a point on the ground. the angles of elevation of the bottom and the top
of a transmission towers fixed at the top of a 20m high building arg 45" and

60° respectively. Find the height of the tower.
3terar (OR)
U AHAGE oEfle ur wE e @ wrar 3w Rafa 3 40
Tl B ot ® omfs ud @1 seraiw 60° A =mewe 307 &
e B FHars T B |

m 31t
STEr 2|

The Shadow of a tower standing on a level ground is found to be 40m longer

when the Sun’s altitude is 30" than when it is 60°. Find the height of

Brg Al afe Bl Bresr @ us e & AHIKH
apomalt @ fireei—fatew fRigart uv ufdede wwet @ foru

the tower.

3T ar
Uehb 350

AR oe, @ F 3w @ genU v & srgura H faenisa & Sidl

-3

Prove that if a line is drawn parallel to one side of a triangle to intersect the
other two sides in distinct points, the other two sides are divided| in the same

ratio.

BE wda Us FAW|A IFINA B HBR BT & [ORID
ST AeTer 3reARRIG B 3rgollar I &I 14cm & 3R

FUT UD
A ddel

(arsr) @ | HATS 13cm B Su adea &l 3dRd gweiR &l

Sita Hifso |




3 0.

Iuderd 3ifbsl B FAgrH A BIGIT |
The following table shows the ages of the patients admitted in a hospifa

A vessel is in the form of a hollow hemisphere mounted by a hollo

The diameter of the hemisphere is 14cm and the total height of t

13em. Find the inner surface area of the vessel.
arerar (OR)

' cylinder.

e vessel is

urell Y aren Tes Brard ldem HATE At UH i B [Wewids B
3Bz W B Al gemerr REt @ @ 4em 3w 2em @ osA

e @ enfRar sita SIifSe | (;r:z_}:i)

A drinking glass is in the shape of a frustum of a cone of height |l

4cm. The

diameters of its two circular ends are 4cm and 2cm. Find the capacity of the

22
lass. (r ==
glass. (7 = )

RroafeiRaa aeolt Rt seuatar @ ve fadw ad d| el e
AT @ 3y @ cerldl @ :

3T 5=15 15=25 25—-35 35—-45 45—-55 55—-p 5

(ast %) . _

A=t 6 11 21 23 14 5

@ AZ=T

| during a

year :
Age 5—-15 15-25 | 25-35 | 35—-45 | 45-55 | 5565

(in years)

Number 6 11 21 23 14 5

of patients
Find the mode of the data given above.

arerar (OR)
Braer arfepst A afegsr sa @ifew -
Find the median of the following data.
“gof sfawer | 65-85 85-105 | 105-125 | 125-145 | 145-165 [ 165-185] || 185-205
Class

Interval \
AATATEEl 4 \ 13 8

‘ Frequency

20 l 14




